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HIGHWAY ENGINEERING

Assignment — |

CA stu ' e Sl ¥ i , :
v_dc_:m trymg to test braking ability of his car determined that he needed 32 ft. more

to st IS ¢z it . il . -
to stop his car when driving down hill than when driving up hill at 55mph on a
particular road. Determine braking distance and % down grade of highway at that

section.

A motorist traveling at 55 mph down a grade of 5% on a highway observes an accident
ahead involving an over turned truck blocking the road. If motorist was able to stop
his vehicle 30 ft. from the over turned truck, what was his distance from truck when

he first observed the accident.

In an attempt to cstimate speed of a vehicle just beforc it hit a traffic signal pole, a
traffic engineer measured the length of skid marks made by vehicle and pcrl'orméd, ‘
trial runs at site to obtain an estimate of the deceleration. Determine the estimated
unknown velocity if the following data wer.e obtained. Length of skid marks = 585 ft,
590 ft , 580 ft, 595 ft ; Speed of trial run = 30 inph and distance traveled = 300 ft.
Exémiﬁation of the véhiclejust after the crash indicated that the speed of impact was

35 mph.

. A motorist traveling at 55mph on an express way intends 0 leave the express way

using an exit ramp with a maximum allowable speed of 30 mph. At what point on

‘express way should the motorist step on brakes in order Lo reduce the speed to the

\-
maximum allowable speed on ramp just before entering the ramp. The alignment of

this section of the road is horizontal.

Vehicle traveling at 40 mph on a wet pavement coated with oil droppings, assume

perception reaction time “t” = | see. What is stopping sight distance if v =55 mph.

Driver of a car traveling at 45 mph requircs 125 fi. 1o stop ‘afier brakes have been -

% appliéd. What is the value of deccleration?
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: L:// A driver traveling at 90 km/hr on a wet road. An obje
v to a stop just before hitting the o‘bject._

o %

ct is spotted on the road 40m

<

ahead of driver and the driver is able to come

Assuming standard reaction time determine the grade of the road.

08  An engineering student claims that a country road can be safely negotiated at 110

km/hr in rainy weather. Because of winding nature of the road, one stretch of level

pavement has a stopping distance of only 180 m. Comment on the students claim.

Scanned by CamScanner



Assigmment 312

p/ / §i; o 0191>  " 37;*
\ b ; 30 7 { ‘\L

Scanned by CamScanner



‘ M e e
i (7,:: it o b s

r)'é{'ﬁﬂcu -é?-vm J@Mdl [;(Sge:n. 'g‘ll’i’??}""'f] L 20}-{
: : I_Sé‘v-\ce -(jvw JeMCL (,J’ ;(ﬂw v; D,,(( o
’ ;@J)':

S = g("f)ﬂ ’{7 S'X'u 0;(:3#“*:(’ -+ D s Fmec p/é/& S 14/)/);
- \/ (‘17\)12_ + 301 i

o

*__AE kS Ko) + 900

20 (/32) ~0-05

-[S = 571 44 ]

—r—

l

Qj Dot G sren sy o= 7 |
3% = laéﬂ a()s‘acf mods — T3S, c90, $BO, 595 H .

Qe oé%ml/ﬁw _Ve= 30mph
Degdtnce ,Q%GVM DJ_C, 30044
i fS-Vcc-b(ﬂﬁfw-pwé Vi = 3Smph

/D,;, _Ggy 4S04 CBoTIST_ C 39S 4

| Scanned »t‘i'era‘rhScanner .‘



@I/ Do-l'" |
Eﬂ”tﬁ v-oa .Srccc[ \/ SrS’ “‘ﬂ}‘ il ?ti _;”! fw!"(‘

£;(1} }a'r»)a g}ﬂtl l’ = \[ = 3 OMFL - lgf,", 2o /f.
| g/}al&( pé_s ct‘ »_

s J: Vito L2 L QYT B3N L L P
2a 2(3‘1") _ 7202544
The brds shodd be opplecl ot st 20344 4, Papp.

3 D
; \l: L"OMVL‘ (Wu(‘f)aﬂu-o/‘l> = | 7'7’3”/5
1.1

Ssp = 7
\ = és’,n,,,L

S e B C T GV TE

)
|
}9

Scanned by CamScanner



» 0{ V Z
) = N
30( & )
> ;}2'2/

2% = 4¢* _
30 (57.)
o= 1739 & 7]

Scanned by CamScanner



bt gl Ty \/ : /,0 I&“ //q g",;(f!;«-;:xfl}q,f{;- r.','f{‘-;{:z:}u\'fj_{)zggy( /&w,ﬂ) |

e $S1) = 130m (o ckloedd csp)
Af
_ ///‘nol'ﬁ CsD w s et e A L A

Cep 1= N V4 (0.272) [or ,i-@off/
a
A5 73 + 67) ’[ -

= /[01 + //OCﬂf)(OLL?g) | ;
7

Mﬁ( 0 £ AR .
= 0// (7':‘3(

|

7 -3
459 = 2!4 m | ok

Y (octnal csp) > 780 (Mar. oLlectte Sspf
A&w( wg Xﬁvc (Jé 5-(&4’/’( S/’L(m/ maf
X"L‘f/é‘jé (/éu.; i ..wb'(uj.

Scanned by CamScanner




